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CHM 151 Quiz2a 25Pts Fall 2010

Multiple Choice
ldentify the letter of the choice that best completes the statement or answers the question.

e, 1. What is the mass of 0.229 mol Mg?

a 245¢g .
b. 106 0. 229 mel 2955 — S—,§772
c. 942x103g -
AN [ mosT
& krxxkkr*x*There are more questions on the back*##*x#kixxkkx

a. 18
b. 29 £2-29 = 3¢
c. 24
d 63
34

a- 3. How many moles are there in 5.00 g of AgNO5?
a. 0.0294 mol

b. 34.0 mol
S’OOAH /NOL- = 0.02 9Y el
| 1€9.95
¢. 5.00mol
d. 8.49 mol

e. 0.00112 mol
C. 4. Whatis the mass percent of iron in iron(Il) oxalate, FeC,0,?

- LO0

. 61.18% - Lyyjg,00 = 64

b, 3207% M—iX/oozgg 3})};{,01 = 1402
) 38.82% )43, ]7 Sk | xTeo¢ = 55.8°

d 81.17% - ‘ -7

e 14.29% /438

CX. 5. Which of the following atoms contains the largest number of protons?

a BLy 176 — 7] = Joy<<=

b 138

c. a7 : ’ 29 - gé "f_

d. 1Nd Jyy - 60 =

e. 8Gd

1Cg -6y = G4

OV



Name: K ‘6&9/

_d_ 6. What is the molar mass of nitroglycerine, C;Hs(ONO;);?
a. 165.1 g/mol .
b. 41.07 g/mol N-'éx /é,:"
c. 103.1 g/mol X 4
(d) 227.1 g/mol 3 % Jg60
e. 204 g/mole c x [,0 l

3 x[uel
22711

__O: 7. How many protons, neutrons, and electrons are in a carbon-13 atom?
@ 6 protons, 7 neutrons, 6 electrons
0. 7 protons, 6 neutrons, 7 electrons , ) 3 - 5 = 7 N @«Cf ol
c. 13 protons, 13 neutrons, 13 electrons
d. 6 protons, 6 neutrons, 1 electron
£ e. 7 protons, 6 neutrons, 6 electrons
8

Which two of the ions below have the same number of electrons?

“0" and ' Ga"’ =74 = g
?jCl_ and :g Ca’

“Cl and, Ga’’

7Ga' and, Ca’’

none of the above
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